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Subtracting without Regrouping Name:
Solve each problem. Answers
1.
1) 996 2) 7,913 3 26 4 151
-220 - 2,600 -12 - 30 5
3.
4,
5 9,134 6) 59 7 116 8 7,793 >
-8,013 -22 - 2 - 3,380 6
7.
8.
9 74 10) 538 11) 8,565 12) o4 9.
-11 - 21 -4,304 -11
- - - - 10.
11.
12.
13) 881 14) 8,932 15) 25 16) 632 13,
- 240 - 800 -11 - 200
- - o - 14.
15.
16.
17) 3,915 18) 84 19) 381 200 5,282 17
-1,504 -11 -270 -4,170
18.
19.
20.
1-10 {95|90(85(80| 75| 70| 65|60 |55|50
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Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
L 776
1) 996 2 7,913 3 26 4 151
- 220 - 2,600 - 12 - 30 2 5313
776 5,313 14 121
3 14
4 121
5 9,134 6) 59 7 116 8 7,793 > 1121
- 8,013 - 22 -2 - 3,380 . 37
1,121 37 114 4,413
7 114
8 4413
9 74 10) 538 11) 8,565 12) 94 9 63
- 11 - 21 - 4,304 - 11 517
63 517 4,261 83 1o
11, 4261
12 83
13) 881 14) 8,932 15 25 16) 632 13 641
- 240 - 800 - 11 - 200
641 8,132 14 432 14, 8132
15, 14
16. 432
17) 3,915 18) 84 19 381 20) 5,282 g 2411
- 1,504 - 11 - 270 - 4,170
2,411 73 111 1,112 18, /3
19, 111
0 1112
1-10 {95|90(85(80| 75| 70| 65|60 |55|50
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Subtracting without Regrouping Name:
Solve each problem. Answers
4413 517 114 63
121 37 776 4261 1.
5313 1121 83 14
2.
1) 996 2 7,913 3 26 4 151 3.
- 220 - 2,600 -12 - 30
- - - - 4,
5.
6.
7.
8.
5 9,134 6 59 ) 116 8 7,793 9.
- 8,013 -22 - 2 - 3,380
- - - - 10.
11.
12.
9 74 100 538 11) 8,565 12) 94
-11 - 21 - 4,304 -11
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